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1. FHRBSHFRERRFRXERE

TEERA G I A MR R — A B — 0 0T 138 R RS A A SGET
HEBRAFTERE S, WHES SRBEREN 15%, ¥ 15~20 88, H8 14, HilatEk 20
~25 G4k, AIEFIRPE = FEAL. ‘

A TAYES ~ 1008, FEH—/PNEXHE, BREEHMEZ SRR, MBS KM
Wik — N RAEEE, B TEFE4-8 8, AR —BRUERIRETE. HilE. HENLRE, §
B HEZ 4 100 ~ 200 Mid], BORFA AV EEEE Z AR 13 ~ 20 B8 YA BT 45 59 10 5 £
g — M RESE, C TEfE4~68, NENT—R 100~ 200 MAMEIL, =8, FERE
BT R B R RE SR SR E AR IEE N 08 120 ~ 140 A, ’

0 113843 e i — R R AT BB NE . IEJLEW 34 % 8 FEW LB L T4,
BE. e, AWEE. BIEEIRS, HiEs . WILRER BT,

2. OB HEEES

07 BB MR A LR E BRG], RIS RSRIE, Mg R
Bk, HAh, WHERRIRENE I BE IR MR I W EBERANBRE &S
EOEPEEN, MREENFEESEHESRNE R, DAL TEBHER, FHA—1T
FLEF PO

0T F7 R ER A B SR E A BRI AR, BN ERARCETHSE, BAM
WA BEMINE, KR B L TR, RN AR R A EHAT BR SR 1l
%, B4, WHHERR-SEHEBRORNRTE, BwRIES ., WL, BERESTET AN
MRS HAEEE S AN TEEEMSE. BTULRXFSHEEXTME ERIEE,

UTEA IR AR EI Y, RSB 3 M AR, B, 15 8~ 95 XERKHKL
H—AEEEE, RITOEEXTHEERTERKMEE, [BRERGHENKELERSEILTAE
AR R TR . XRTFES LA TR A XTSRS, FENRE
W SRR, BB AVIGRTR, W, SRARHE2 E 34D, T TERAR
B — R B ROV SRR SR, FEARVT R RO, RORCRWTHESS . a9, FIRA
BT A ERSEFIR R . EH SR TR W BN EENEE

(1) ZEFRE .

MBI R E AT ER, ARXEA N LI A SRR 4 MEPE “marely”
GBZ>, JLFAR); MRATREWT R “really” (HIEHL).

(2) TERLAER



IR R RN E A ARG, WREMYT /1 LAIEME, N: obtain sth. FEELL get sth. £
WA T EHE, AR obtain —1d], FFTREMT A X MM A,

(3) HRARAFIE

XUT IR E R AR, EEMERERRE, W ZBRAMERX FEBEA
% 1/J\é<‘ttﬁ§51ftﬁ”ﬁ?ﬂéo R K T ML, ﬁﬁ1k$)\1¥ﬁﬁi$7‘i@%ééﬁi, W X Fob ek AT

(4) Elﬁ]ﬂ WIFH XKW A KE, W #iEE— A4 120 ~ 140 H)Z ] . 34
BT IH RN E R E BN, R TR 0T AR R B tReE 18, AR AT BErE % ikt 0 B
T 1 BIBR

(5) CHERMASE. XFEREBTNERAESFEK. T—F—FENHEREE,
TAARE ﬁ%f%‘:ﬂ“‘ﬂ?% A SRy — B RA I B AR R ER, FEA—ET
AL R PEIRE 2% T XSEHERRANT AR,

(6) HIG[AIRE 'ﬁﬁ*ﬁﬁﬁﬁﬁ%ﬁﬁi%@% AL SCER A 5 Ao T [R5 AneT 5 T
KE; WARAHBREEESE, £ T3S PRITSEHENAR.

TE RS, RTINS E:

(1) #& W R

RO 1 KA SO AR A LD WO Sk AR SR EE B) 4] . 40 what, why, where, when, which, who
Fo BEAFIREENIARR TR T, IERE] . A AW, A%, B, 7EUTIE XTI
B X SCHIIRIE , 38 IO 3 W 18] ) e ok B [l i

Blan: (2000 4F)

1. W: I'm taking the train down town to go shopping.

M: Well, you’d better keep an eye on your wallet.
Q: What does the man advise the woman to do?
2. W: Would you mind sending champagne and strawberries to my room at 1 am. , please?
M: I'lltry, ma’am . But on Wednesday the kitchen staff leave at mid - night.
Q: Where does the conversation probably take place?

SR—RIE what JENMNT 1185 35 RS where TEANIUT FRRAY , 7525 R % 4 R 0F 15 5 A%
HI T R IR BE (]3], SRR AT BB b5

(2) HiWxHEENER

ZROTERBR— TN EERREZ. B8, 21, BM%,

%ian: (2000 4F)

W: How annoying! 1 can’t figure out a solution 1o this problem. Can you help me?

M: Well. I’m afraid 1 can’t at the moment.

Q: What does the man mean?

A.He may help the woman later.
B.He can’t help the woman.
C.The woman should not be annoyed.
D. The woman should work on the problem later.
B S L FR TMERTARER B Lt U'mafraid I can’t A T B LHIBE,
(3) EEMENERURTAMEERESR
« 2 .



REERHEAZIEE KRR ME, S, DR R AL,
Bilgn. (1999 4¢)
M: Why are you studying English?
W: I work at the front of a desk in a big hotel here. We have a lot of guests from America. So I want to
improve my listening and speaking ability of English.
Q: Why is the woman studying English?
ATt will help her with her job. B. She likes English conversation.
C. She wants to travel to America. D.She wants to find a good job.
TEXEESY, T+ T2 JiEN FERE, L8iRE improve, listening, speaking, ho-
tel, America 5§ . ZOMNIERIIEE LA R EBE S THBRINAE A BIEREE,
(4) SEFBURIERERBE S
BREA b AN E BRI A R G/ TR, A AR T ERT A R XA AR TEE
HfEE . B, TEUR XIS BUESCRT N AR M — T 0N BEI, R 7R S SO E R &
AJRER N MIRERSE, TR IERE BURA R AH B .
flgn . (2000 4)
A.He didn’ t have time to go to the movies.
B.The movie was not worth seeing.
C.The movie was inexpensive.
D. He didn’ t understand the movie.
MO TR LA, KBS A K. ik, $RATN TR Al LIAF B R 19 2
EXEHR M EEAR,

(5) FARIFE B [a]
EREZIEAE 13 E 20 B isBEanth], ERyXEFAREFERN, ZHAEET—

HEEZ ), NRFTREE W LA B i B BSEM 0 T A ik, — BB AR, T
FAEFACK THRMERZ S
(6) FIRILHES A5
FER AT XSS L RIRTIR T, AR AR RME e Ay, "R AR, — B AT,
A] NS AT BER B R SR HERR , FREERIT il 5 T A AR LR, BIEERRE R,
il 4n .
M: There’s Mary in her car. Did she take it to the garage to be fixed?
W: Don’tbe silly! That would have been a waste of money.
Q: What conclusion can be drawn from the conversation?
A Mary paid o bave her garage fixed. B.Mary now works in a garage.
C. Mary wasted her money in a garage. D.Mary repaired her car herself.
M LB RHE R LA Mary AR EXFIGHE, MERKBCEBTE, Hit, HETH
Rt A FI B, XA TIRITIPEH garge —id, H5FEMELIT; FH CHDHAE, AIH{L D

RIEBER.
(1) ELERIER
FERRHEFL SCRT, AIfE—LiTsR, DUERI B £ M LB E BRI IR B . 10 RAAA T LI
BHE] . Mol A% . HFE. hTIERRIEOE R REK, BRANTARS, ELGLERXKNE
e 3 .



LHFRMERERN R, FRELERTEXH TS, BRMEER (. B, 45X
H5F) LIRKRERE (0. RBWREANY . #a . EEENS ., SF) %, fEEME, R
Al R R A KRBT AT, SlE—E MR,

(8) HFAEMWHHZN, AIL—ERRE, —EERM

PoBNELAN AT EE N ERAE L, FS TR S AR IS . W8 R
B R FESr A AR B ], PRI TIE S TR, ARMERA K, AT LASEiT T A KRB R
AL TR, SR, BHREF . WE=RN, AT EBTMiaE, URRED
HREGAWHIR '

3. WHERS MERI R AT

Wr 77 KB 58 — B g 9 N/ . X ER BT R F BT, —BESAIIRE %
TG, TE. ¥ISEEBTHE, BT _EERBMNIZEFRABEE0ER . M X8
Bk FIERRE BT 550, BRI TR B R E RN S RAIEE . TEM 9 FH WA
AF, E—HENE,

(1) HiERBA (Locations)

XS REH 51 WU B4 B ) 4 52 2] 14 A i B SR A AR X 37 P 25 9% 0 A T L X i
M, XEGRAFERIE. B, %6, i, g, BHE. 5. BEKES. fln:
(2000 4F)

W: Would you mind sending champagne and strawberries to my room at 1 a.m ., please?

M: I'll try, ma’am . But on Wednesday the kitchen staff leave at mid — night.

Q: Where does the conversation probably take place?

A.In a bar. B.In a restaurant.
C.In a grocer’s. D.In a hotel.
RRIFEZXTE A RATEEA AT LA XHE R IEARKIE KM, Send sth. to my room ] LAFEBHF
I IYE BT A BT
FERJUAEEBRA R R, A XS R RE R R W, XKW ERF, &
MEIRRAIEAE

1. Where did this conversation most probably take place?

2. Where are the two speakers?

TERO S0 SRR, EREERE L SREHAAXME AR, . £ERPHE, ik
XL LB B AR SUAYIA)IE : catalogue, borrow, keep, renew, overdue, due, magazine %, FE4RAT, ]
IC open an account, interest rate, exchange, deposit, bank clerk, savings account %%, 7EHLYG, 7TiC dep-
arture, arrival, flight, land, take off,, check in, boarding pass, gate %, % 4= i 7 - Ao Wy B 332 A9 1 2
T, HEFMAR SR i SR AN ITE, XX TREWDREH N,

(2) REKEAR (Relations)

XEP Y RBIME Z A X RBER R “RRER", XN ) BB R % £ TEWTIE X & F)
MHERMEAZBIKRE, . ik, BESRR. REASHE ., EEMRA . & EMH
. BMMIRG . KENNBES. EEXEER, BEEESUHEA SO BIRE N AR
iR, . ZUTE] menu —IaA)BY, FA b AT LA E XHE A Z 8K R AR 5 AR .

fim: (1997 )

e 4 -



W: Please, sit down. Let’s see you are Mr Wash. Is that right?
M: Right.
W: And you are fooking for a job.
M: Yes, I'm . I’ll graduate from a college next June. I’ m majoring in architecture.
Q: What is the probable relationship between the two speakers?
A. Teacher and student. B. Manager and customer.
C. Interviewer and interviewee. D.Secretary and client.
ISR UL R T8I 494 %18 )2 3740, f0: look for a job, graduate from, next June %,
BA AT LIRE B E KER, EARTIE, B ZFRRKFENZE interviewer (£5F) and
interviewee (CRERZE) WX R, EXEZ P, AL EIAH interviewer Fl interviewee X B~ LA
TRAXRMNEARRR, WHS%,

1. passenger and bus driver FeEH5IRE A

2. store keeper and customer & EEHRE

3, woman and baby - sitter N 5BERILE

4 .borrower and lender HRRAESHEE

5. pharmacist and customer 705 %

6. patient and nurse WAL

7.lawyer and client BT S

8.aunt and nephew W SET

9. airline agent and customer i ARSI %E

10. trainer and trainee % m 5%

11.clerk and customer R 5%

12. policeman and motorist BR5/NEEAL
" 13. detective and spy EA RS

14. policeman and thief BR5/\ME

15.bus driver and victim REMWEZEE

BOARER A Bl R

1. What's the relationship between the man and the woman?
2. What is the probable relationship between the two speakers?
3. Who are these people?

4. What proper relationship do these people have?

(3) HBLLA (Calculations)
BRI LA B W, ZERFHR N LS., RIREE, BB FRFREEAS

HIEMERAAR; M EEXFEMSEI GRS, IXTHEERLEHT . B, R, BFE
. HAFREM. B. . B, RETI—RENNREGET, BETREEIEEAES
R, BERMRFEEEREN; FHTRESTITE, TEXEES, FEXHHFLEFHTNEET
B}, 27438, H: thitteen, thirty, fourteen, forty, fifteen, fifty <F; B, Xt ETFREFEERE
fRME— T 5 AR B S DUES T %, HN: fourteen hundred thousand, 140000; fifteen thousand and
twenty 15020 %, XA MIRETE B — B0 XBTTHE, 1L FET 1 TS RARMEMEI 4

AN SRR A K, B
: . 5 .



1.120 one hundred and twenty

2.530 five hundred and thirty

3.5523 ' five thousand, five hundred and twenty-three

4.55523 fifty-five thousand, five hundred and twenty-three

5.566623 five hundred and sixty thousand, six hundred and twenty-three
6. HiE: 62785553 six two seven eight five five five three

7.1982 4F ‘ nineteen eighty-two

8.2000 4 two thousand

9.20 42 60 A, nineteen sixties

104 H2H April second

11.9:45 nine forty-five

REBH R E, UTRHFH—:
Filgn: (1997 4F)

W: Why didn’t your aunt fly?

M: It would have cost $44. The bus fare is only § 14.

Q: How much did the man’s aunt save?

A.$44. 00. B. $14.00. C. $30.00.

PR AR ) R -

1. How many / how much is ...?

2.How long / old ...?7

3. What time ...7

(4) HLEIHERY (Comparatives)

FEW A XHER S, ARAMEAERY RBEEYHER.
flgm: (1997 4)

D. $40.00.

M: What a waste of money just for a new Arts’ Center . Why couldn’ t the money be spent on something

more important?
W: Nonsense. Nothing is more important than the art.

Q: What can we leamn from the conversation?

A.The man is not keen on arts. B.The man spends more than he makes.

C.The woman is an artist.

D.The woman looks down upon the man.

£ FEMATED, £+ RANR— I HEEHERIZEH Nothing is more important than the arto
DX —iE RS AR R R . EXFIHED, TERFLERR, RNEWFRRM,

SRR R HEAS W) R4
1.A is as good as B.
3.A is better than B.
5.A is the best of the three.
7.A runs faster than B.

TR SIE R, REARERE

1.Who runs the fastest?
2. Which one is better / worse?
c6 -

2.A is not so good as B.
4 .A is worse than B.
6.A runs as fast as B.

8. A runs the fastest among the three.

KA



3. What can we leam from the conversation?

(5) HRMP AR (Occupations)

B 5 3 B & O DA T AR B R, XRBAIB A LR, AW R
FIdbE ST, . APL. SR, BN, EE. BIP, BRE, mREXEER, BN
W 37 % i e G BAI R o AR e b ) O A R s B

Bilgn: (1996 4)

M: We’ll be here in London sitting in a newspaper office or teaching in a classroom full of chalk dust.

W: Well; Geirge, you’d be able to go out in the sunshine sometimes. You are a journalist. I’ m the one

who has 1o stay in the classroom. Don’t forget.

Q: What is the woman’s profession?

A Editor. B. Journalist. C.Teacher. D.Student.

FEXAFHER, BERR TR LIE, BHRECEMES. Zbadhd ol LIsE i1 A=
Py, Mt BEHZHE, HXEIER classoom; BTl L8 TAER UM EIMERRIF R
Bf, WAREUEZHELS classroom A HIZMEL R

RAEBR AR T EHH

1. Who is the man / woman?

2. What is the man’s / woman’s occupation / profession?

3. What do we know about the man / woman?

4. What is the man / woman?

RANEEBEIRH KB 7 BRI

carpenter K 1. doctor &4 professor Z{ %
cashier 447 surgeon ANELBE AR manager 7
conductor YL 5 physician AE}BE A lecturer Y

cook BT novelist /DR waitress R 55 K1
operator 1% 55 5 salesman #E 5 51 librarian B8
bank clerk ST HE R tailor L 5E mechanic P T
engineer L2 receptionist 313 5 lawyer I
secretary 15 electrician H3 T plumber &-F T
policeman % %% employee JiE 51 employer J& &
butcher & X merchant A dentist 7F &

(6) HFRIKEER (Cause and Effect)
KRB R R EEEY R 5 ERT, EXXEPFHANERNREA
what F15E ] Bi5] why. E
fan. (1999 )
W: Have you decided what to get your wife for Christmas yet?
M: No. Not yet. I know she likes video camera, but that’ s too expensive.
Q: Why doesn’t the man want to buy his wife a video camera?
A.She doesn’t like it. B. It’s too personal.
C. Tt costs too much. D. It’s difficult to use.
fE F ER3TiES, BAANBA L L RFEHAERZ R 1o X TR ST iF X8 A
. 7 .



FRIRARBERKFR, UK HIK because, so, so that, therefore; but 25| SRR EHMEH,

(7) NHEZLER! (Inferences)

M JLEMEEERE, NREEERABLES, HFERNFREIEEM T LES
B, REATEPEESET LRERIEENER. ZAFTERENENAZE, EdPIREE
B, BEHEANER., SEMERE, 2FRANEGELE:

1. What does the man / woman mean?

2. What do we leam from the conversation?

3.What does the man / woman think about .. .7

4.What can be inferred from the conversation?

. (1994 4F)

W: Oh, dear. I wonder where I have left my note book.

M: Is it at home?

W: I've looked everywhere. If only I could remember where I left it.

Q: What does the woman mean?

A.She can’t find her notebook. in the place where she left it.
B.She can’t recall where she left her notebook .

C. She can remember now where she left her notebook .

D.She has found her notebook at last.

EizxiES, FIATEBESH AR, Bl If only I could remember where I left it. (FRAFILID
AW EREF 7)o BRT XSS, FRFAAMIHERE T AR BB EIER £,

. (199 )

M: Everyone seems to be on a diet. Have you noticed that?

W: Yes, a neighbor of mine is on a banana diet. She eats a banana for breakfast, a banana for lunch,

and two bananas for dinner, yet she doesn’t look any thinner.

Q: What did we leam about the woman’s neighbor?

A.Her diet is not effective. B. Her favorite food is banana.
C.She has lost much weight. D. She has put on some weight.

MIEFTEPRATT ARB, ZEWBESEHARBAR. EFMERRE A,

(8) BEHBIAY (Negatives)

BREARMMEOTFELERT—EMEMR. FH no, not, never, none, neither F ARG EE
XHREASEF AR GREHEENTESE, B, AFETHEREBXHFAERHFAGS
EUrE R, XHAFESERIVER . W: rarely (1B2), lle (RDH, FEH), few (RS
8, JLFEAR), hadly (JLFEAR), scarcely (JLFA, fRIEBLA), rather than (AR), except for
(Bg-+-+--2Z4), no less than (AR) %

HA THAME:

W: Did you often take a walk in the evening last month?

M: I rarely did.

Q: What did the man mean?

A.The man often took a walk in the evening.

B.The man did not like walking in the evening.
.8 . :



C.The man hardly took a walk i the evening.
D.The man really liked taking a walk in the evening.
BAIHEEREERE C. FHEHH “raely” FR R, WHBES Lo MAXE LS really
AL, B, WORROR R, B -
BRT LA B RME RS, HEHH B RIE AN S A R R E M. a0 1997 5K
% 6 &L
M: But doctor, If [ gave up cigarette and gave up beer life wouldn’t be worth living.
W: If you don’t give them up you won’t live anyway.
Q: Is the man going to do as the woman says?
A. It’s hard to say. B. Definitely .
C. Centainly not. ' D.Yes, he is. :
FEMIHES, BEAREHAT =W, BAEMERE, “WRRARME, TR,
RERAT"; FANEE not BEF. UETHR G BEXET R ARRZHE B,
(9) AZFEFEBA (Attitudes)
SHE R R BB LR EAMASREATARTACHEE. SEREN
HEAEERR., KA, SFRAWE. £K. KE%, 1997 FERIEER AT 8% 5

BT XA,
Flan. (1997 5E)

W: Did everything come out as exactly as you planned?
M: Not exactly. As a matter of fact, things came out rather better than I’ d planned.
Q: What does the man think of the results?
A.They are disappointing. B.They are satisfactory.
C.They are terrible. D.Too early to know.
MAFHES, RATATLL T MEE LIRS R BHELT . MBI A RR T M HLBRENS
B, UFhER, FEEEMEAMESMERN, RERFTURSHEARNEMER, 2%
BB IA A
1.What does / did the man / woman think of it?
2. What does / did the man / woman say about it?
3.How does / did the man / woman feel about it?
4. How does / did the man / woman like it?
(10) EHH P LITR! (Restatement)
LIRS —FhEE TR, BULERIERRIEARSE . WA Bk, ARAERMRERE
i
Filn: (2000 )
W: I’m taking the train down town to go shopping.
M: Well, you’d better keep an eye on your wallet.
Q: What does the man advise the woman to do?
A.Not to go shopping downtown.
B.Guard her money.
C. Look for a new wallet.



D.Not to take the train.

T L EHIXTIE T “keep an eye on” FIEFEI A FH) “Guard” (FRIFEF) B TXFREET
J—:t:o

4. 73X 1R s A AT

(1) F3CWT /38R 20 v i 3 2 )l B

L 3CHT JER 53 v i I R R i 4R 2 9 W ) B P8 B Ry e B E A B R AR SXHEUT A E
ST LB SO IR R, R EBRIFREROM MG SRR, H4E AR RMES B
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Today I'd like to talk to you about dictionaries because most of you have them, but don’t use them very
often. Whenever I asked people what a dictionary is for, they almost always say that it’s to find a meaning of
a word. Well, That’s only a small part of the answer (‘&8 ) .

Questions 10 to 12 are based on the passage you have just heard. .

10. Which of the following statements is true according to the speaker?

11. What do people usually think dictionary is used for according to the speaker?

12. What does the speaker suggest the readers do if they are not sure about the spelling of a word?
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13. A.Blue, brown and green. B. Yellow, red and gray.
C.White, brown and black. D.Orange, red and brown.
14. A.24 hours 37 minutes. B.33 hours 19 minutes.
C.48 hours 20 minutes. D.42 hours 12 minutes.

15. A.Because it is too hot and there is no rain.
B. Because it is too dusty and there is no air.
C. Because there is too much ultraviolet radiation and it is too cold.
- D.Because there are too many storms and too many rocks.
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13. How does the govemment pay for public bills?

14. According to the speaker, what would happen if nobody in the city paid taxes?

15. Which of the following costs the largest amount of public money according to the speaker?
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Passage one

I’m Michael Black. I was out detecting with my dad. We went to a field. We often researched there.
But we never found very much, usually just old pieces of iron, sometime a coin. It was late in the evening,
and we decided to go home. Just then, my detector picked up a strong signal. I was standing over a hole about
thirty centimeters deep. We carefully dug away some grass, and then we uncovered an old bed of metal. 1
thought that all was. But it wasn’t . We lifted it up. There were two beautiful old gold subjects under it, a
wine cup and a plate. We always wanted to find something like this.

10. What is he talking about?

11. What time of the day was it, when they heard the signal?

12. What did they find?

Questions 10 ~ 12 are based on the passage you have just heard.

10. A.lron cups digging. B. Grass planting.
C. Garbage collecting. D. Valuables searching.
11. A.Late evening. B. Early moming
C. Late afternoon. D. Noon time
12. A.Some old pieces of iron. B. Hundreds of coins.
C.Two gold objects. D.Some metals.
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Passage two

Mars is a beautiful planet to look at. It’s very bright from the earth. With the help of telescope it is or-
ange, red and brown. Those are the colors of rocks. It is a rocky planet, almost half the size of the earth,
thirty — three hundred and ninety kilometers across. A day on Mars is about 24 hours and 37 minutes long, and
its four seasons are twice as long as those on earth. In late spring and early summer, there are terrible dust

storms, and all the year round, it is a very dusty place. It is too cold for water and there are high levels of ul-

traviolet radiation So there is no life at all on the Mars.
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Questions 13 ~ 15 are based on the passage you have just heard.

13, A.Blue, brown and green. B. Yellow, red and gray.
C. White, brown and black. D.Orange, red and brown.

14. A.24 hours 37 minutes. B.33 hours 19 minutes.
C.48 hours 20 minutes. D.42 hours 12 minutes.

15. A.Because it is too hot and there is no rain.
B. Because it is too dusty and there is no air.
C. Because there is too much ultraviolet radiation and it is too cold.
D.Because there are 100 many storms and too many rocks.
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Directions: In this section, you will hear a passage three times. The passage is printed on your Answer Sheet
with about 30 words missing. First, you will hear the whole passage from the beginning to the end just to get
a general idea of it. Then, in the second reading, there will be a pause after each space. During the pause,
you must write down the missing words or phrases you have just heard in the corresponding space on the An-
swer sheet. Finally you can check what you have written when the passage is read to you once again without the
pauses.
In 1829, when Stephenson entered his invention, the (1) , people
were shocked to find that it was possible to (2)
of 36 m. p. h. But, there was a powerful resistance at that time. Stage — coach owners, inn-
keepers and horse dealers all saw (3) . In addition to this resistance,

the greater number of people who were against the introduction of the railways into Britain were those who were

interested in the natural conservation. Trains were considered to be noisy. With their smoke they would kill

birds, and with their sparks, (4) . Anyhow, communication

was really helped by the rails. The laying of the tracks provided work for thousands and (5)
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